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Subtraction (Vertical) Name:
Solve each problem. Answers
1.
1) 816 2) 8,494 3) 893 4 5 887
- 49 5,557 2 -2 )
3.
4,
5 811 6) 5,858 7 6,213 8 30 >
- 80 - 648 47 -_E 6
7.
8.
9 77 100 744 11) 598 12) 923 9.
- 45 -134 18 - 825
- - - 10.
11.
12.
13) 72 14) 4,688 15 9,981 16) 917 13.
- 7 - 3 39 - 6
- - S 14.
15.
16.
17) 6,612 18) 9,735 19) 907 200 9 955 17
- 1,223 - 344 8 - 759
18.
19.
20.
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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Subtraction (Vertical) Name: Answer Key
Solve each problem. Answers
N 767
1) 816 2 8,494 3 893 4 5887
- 49 - 5,557 -2 - 2 , 2,937
767 2 937 891 5,885
3 891
4 5,885
5 811 6) 5.858 7 6,213 8 30 > 731
- 80 - 648 - 47 -15 6 5,210
731 5,210 6,166 15
- 6,166
8. 15
9 77 100 744 11) 598 12) 923 9 32
- 45 - 134 - 18 - 825 610
32 610 580 08 10
11, 580
12, 98
13) 72 14) 4,688 15 9,981 16) 917 13 65
-7 -3 -39 - 6
65 4 685 9 942 911 . _ 4,685
15, 9,942
16. 911
17) 6,612 18) 9,735 19 907 20) 9,955 7 5,389
-1,223 - 344 - 8 - 759
5,389 9,391 899 9,196 1. 9,391
10, 899
20 97196
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraction (Vertical) Name:
Solve each problem. Answers
32 5,885 15 891 5,210
98 580 2,937 767 6,166 1
731 610
2.
1) 816 2) 8,494 3 893 3.
- 49 - 5,557 - 2
- - 4.
5.
6.
7.
4 5,887 5 811 6) 5,858
- 2 - 80 - 648 8.
9.
10.
11.
N 6,213 8 30 9 77 12.
- 47 - 15 - 45
10) 744 11) 598 12) 923
-134 - 18 - 825
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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